

KANSAS CORPORATION COMMISSION PAGE Form ACO-1
OIL & GAS CONSERVATION DIVISION
Form Must Be Typed

WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 32192	API No. 15 - 007-22998 -00 -00
Name: Pride Energy Company	County: Barber
Address: PO Box 701950	SE_NE_SW_NW Sec. 8 Twp. 30 S. R. 11 East West
City/State/Zip: Tulsa, OK 74170	1900 feet from S /N (circle one) Line of Section
Purchaser: Lumen	1100 feet from E /(W) (circle one) Line of Section
Operator Contact Person: Matthew Pride	Footages Calculated from Nearest Outside Section Corner:
Phone: (<u>918</u>) <u>524-9200</u>	(circle one) NE SE (NW) SW
Contractor: Name: Ace Drill-N, Inc.	Lease Name: Barbara Well #: 1-8
License: 33006	Field Name: Harding
Wellsite Geologist: None	Producing Formation: Red Eagle
Designate Type of Completion:	Elevation: Ground: 1839 Kelly Bushing: 1845
New Well Re-Entry Workover	Total Depth: 3859 Plug Back Total Depth: 3335
OilSWDSIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 318 Feet
Gas SIGW Temp. Abd.	
Dry Other (Core, WSW, Expl., Cathodic, etc)	Multiple Stage Cementing Collar Used? If yes, show depth set 2492 Feet
If Workover/Re-entry: Old Well Info as follows:	
	If Alternate II completion, cement circulated from
Operator:	feet depth tosx cmt.
Well Name:	Drilling Fluid Management Plan ALT I WHA
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit) 7-12-07
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 4000 ppm Fluid volume 400 bbls
Plug BackPlug Back Total Depth	Dewatering method used_evaporation & trucking
Commingled Docket No.	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	Operator Name: Bemco
Other (SWD or Enhr.?) Docket No	·
3-27-06 4-8-06 5/11/06	Lease Name: MAC License No.: 32613
Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date	Quarter Sec. 7 Twp. 32 S. R. 11 East V West County: Barber Docket No.: C-21045
Kansas 67202, within 120 days of the spud date, recompletion, worko	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply.
107 for confidentiality in excess of 12 months). One copy of all wireline log TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged well	s and geologist well report shall be attached with this form. ALL CEMENTING ls. Submit CP-111 form with all temporarily abandoned wells.
107 for confidentiality in excess of 12 months). One copy of all wireline log TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged well All requirements of the statutes, rules and regulations promulgated to regu	s and geologist well report shall be attached with this form. ALL CEMENTING
107 for confidentiality in excess of 12 months). One copy of all wireline log TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged well all requirements of the statutes, rules and regulations promulgated to regulaterin are complete and correct to the best of my knowledge.	is and geologist well report shall be attached with this form. ALL CEMENTING is. Submit CP-111 form with all temporarily abandoned wells.
107 for confidentiality in excess of 12 months). One copy of all wireline log TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged well all requirements of the statutes, rules and regulations promulgated to regularie are complete and correct to the best of my knowledge. Signature:	is and geologist well report shall be attached with this form. ALL CEMENTING is. Submit CP-111 form with all temporarily abandoned wells.
107 for confidentiality in excess of 12 months). One copy of all wireline log TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged well all requirements of the statutes, rules and regulations promulgated to regularie are complete and correct to the best of my knowledge. Signature:	is and geologist well report shall be attached with this form. ALL CEMENTING is. Submit CP-111 form with all temporarily abandoned wells.
107 for confidentiality in excess of 12 months). One copy of all wireline log TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged well. All requirements of the statutes, rules and regulations promulgated to regularies are complete and correct to the best of my knowledge. Signature: Date: 12-22-06	Is and geologist well report shall be attached with this form. ALL CEMENTING Is. Submit CP-111 form with all temporarily abandoned wells. Is all the oil and gas industry have been fully complied with and the statements KCC Office Use ONLY
107 for confidentiality in excess of 12 months). One copy of all wireline log TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged well. All requirements of the statutes, rules and regulations promulgated to regulater are complete and correct to the best of my knowledge. Signature: Engineer Date: 12-22-06 Subscribed and sworn to before me this add day of the statutes of the statutes and regulations promulgated to regulations promulgated to regulations. Discription: 12-22-06	s and geologist well report shall be attached with this form. ALL CEMENTING is. Submit CP-111 form with all temporarily abandoned wells. Complete the oil and gas industry have been fully complied with and the statements
107 for confidentiality in excess of 12 months). One copy of all wireline log TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged well. All requirements of the statutes, rules and regulations promulgated to regulater are complete and correct to the best of my knowledge. Signature: Engineer Date: 12-22-06 Subscribed and sworn to before me this add day of the statutes of the statutes and regulations promulgated to regulations promulgated to regulations. Discription: 12-22-06	s and geologist well report shall be attached with this form. ALL CEMENTING is. Submit CP-111 form with all temporarily abandoned wells. Complete the oil and gas industry have been fully complied with and the statements
107 for confidentiality in excess of 12 months). One copy of all wireline log TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged well. All requirements of the statutes, rules and regulations promulgated to regulatere are complete and correct to the best of my knowledge. Signature: Date: 12-22-06 Subscribed and sworn to before me this day of Complete and correct to the best of my knowledge.	s and geologist well report shall be attached with this form. ALL CEMENTING is. Submit CP-111 form with all temporarily abandoned wells. Complete the oil and gas industry have been fully complied with and the statements
107 for confidentiality in excess of 12 months). One copy of all wireline log TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged well. All requirements of the statutes, rules and regulations promulgated to regularier are complete and correct to the best of my knowledge. Signature: Date: 12-22-06 Subscribed and sworn to before me this day of Subscribed and sworn to be subscribed and sworn to subscribed and sworn to subscribed and sworn to subscribed and	s and geologist well report shall be attached with this form. ALL CEMENTING is. Submit CP-111 form with all temporarily abandoned wells. Idate the oil and gas industry have been fully complied with and the statements KCC Office Use ONLY
107 for confidentiality in excess of 12 months). One copy of all wireline log TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged well. All requirements of the statutes, rules and regulations promulgated to regularier are complete and correct to the best of my knowledge. Signature: Date: 12-22-06 Subscribed and sworn to before me this day of blumbur and complete and correct to the best of my knowledge. Notary Public: 12-22-06 Subscribed and sworn to before me this day of blumbur and complete and correct to the best of my knowledge.	s and geologist well report shall be attached with this form. ALL CEMENTING is. Submit CP-111 form with all temporarily abandoned wells. Idate the oil and gas industry have been fully complied with and the statements KCC Office Use ONLY



Side Two

Operator Name: Pri	de Energy Comp	any	Lease	e Name:.	Barbara		_ Well #: _1-8	
Sec. 8 Twp	30S. R. 11	East		y: Barb				
tested, time tool ope temperature, fluid re	en and closed, flowing covery, and flow rate	and base of formations g and shut-in pressures ss if gas to surface test, final geological well site	penetrated. , whether si along with t	Detail a	III cores. Repor	static level, hydro	static pressu	res, bottom hole
Drill Stem Tests Take		Yes No		√ l	.og Format	ion (Top), Depth a	nd Datum	Sample
Samples Sent to Ge	ological Survey	✓ Yes No		Nam	ie		Тор	Datum
Cores Taken		Yes ✓ No		Red	Eagle		2624	-779
Electric Log Run (Submit Copy)		✓ Yes No		India	an Cave		2750	-905
List All E. Logs Run:				Тор	eka		3178	-1333
Rosel ML				Toro	onto		3722	-1877
Rosel DIL Rosel FDC/CN	NL			Tarl	kio		2952	-1107
			RECORD	✓ N				
Purpose of String	Size Hole	Report all strings set- Size Casing	-conductor, si		ermediate, produc Setting	tion, etc.	# Sacjs	Type and Percent
	Drilled	Set (In O.D.)	Lbs.	ĬFt.	Depth	Cement	Used	Additives
Surface	12 1/4"	8 5/8"	24		318	60/40 POZ	250	2% gel 3% CC
Production	7 7/8"	5 1/2"	17		3368	AA-2	175	
DV Tool			-		2492	A-Con	310	3% CC 1/4# CF/SX
		ADDITIONA	L CEMENTII	NG / SQ	JEEZE RECORD)		
Purpose:Perforate	Depth Top Bottom	Type of Cement	#Sacks	Used		Type and Pe	ercent Additives	S
Protect Casing Plug Back TD Plug Off Zone	3190-3198	Common	125 sx		0.5% FLA-3	322, 0.5 DF	, ,	
	PERFORATI	ON RECORD - Bridge Plu	una Sat/Tima		Asid Cro	cture, Shot, Cement	C	
Shots Per Foot		Footage of Each Interval Pe				nount and Kind of Ma		Depth
4	Topeka (3190-3	198 CIBP @ 3170			Acidize w/ 5	00 gal		3190-3198
4	Tarkio (3065-30	70) CIBP @ 3050			Acidize w/ 1	000 gal, 3000	gal	3065-70
4	Indian Cave (27	58-86 OA)			Acidize w/ 1	000 gal, frac'd	w/ 12500#	2758-86
				•				
TUBING RECORD	Size 38	Set At 2796	Packer A	At	Liner Run	Yes 🗸 No		
No prod. to da	d Production, SWD or E te	nhr. Producing Me	_	Flowing	g 🗸 Pumpi	ng Gas Lift	Oth	er (Explain)
Estimated Production Per 24 Hours	Oit O	Bbis. Gas	Mcf	Wate	er B	bls. G	as-Oil Ratio	Gravity
Disposition of Gas	METHOD OF C				Production Inter			SEWED
Vented Sold	✓ Used on Lease	Open Hóle	Perf.	. 🔲 🛭	Dually Comp.	☐ Commingle¢ 《A		CEIVED RATION COMMISSION
(ii ventea, St	ıbmit ACO-18.)	Other (Spec	cify)				DEC	2 6 2006

CONSERVATION DIVISION WICHITA, KS



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Brix 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

SALES & SERVICE OFFICE:

1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

\$4.371.22

Discount:

Invoice

Bill t	to: 7149500	Invoice		ice Date	Order	Station
	Pride Energy Co.	604053	4	4/9/06	12469	Pratt
	P.O. Box 701950				Description	
	Tulsa, OK 74170			Ce	ment	
	·		Lease		We!	
		(Barban AFE	(4)	1-8 PO	
			AFE		PO	Terms Net 30
	CustomerRep			Tre	eater	1.00
	R. Paker			B. I	Drake	
<i>ID</i> .	Description		<u>UOM</u>	Quantity	Unit Price	<u>Price</u>
D201	A-CON BLEND (COMMON)		SK	310	\$15.39	\$4,770.90 (T
D205	AA2 (COMMON)	ED	SK	175	\$15.37	\$2,689.75 (T
D203	60/40 POZ (COMMON)	1	SK	25	\$9.82	\$245.50 (T
C195	FLA-322 APR 3 7 20	C6	LB	132	\$7.50	\$990.00 (T
C221	SALT (Fine)		GAL	908	\$0.25	\$227.00 (T
C243	DEFOAMER		LB	42	\$3.45	\$144.90 (T
C244	CEMENT FRICTION REDUCER		LB	50	\$6.00	\$300.00 (T
C321	GILSONITE		LB	875	\$0.60	\$525.00 (T
C312	GAS BLOCK		LB	124	\$5.15	\$638.60 (T
C310	CALCIUM CHLORIDE		LBS	876	\$1.00	\$876.00 (T
C194	CELLFLAKE		LB	79	\$3.41	\$269.39 (T
C304	SUPER FLUSH II		GAL	1500	\$1.53	\$2,295.00 (T
F101	TURBOLIZER, 5 1/2"		EA	13	\$74.20	\$964.60 (T
F121	BASKET, 5 1/2"		EA	2	\$237.50	\$475.00 (T
F181	LATCH DOWN PLUG & BAFFLE, 5 1/2"		EA	1	\$600.50	\$600.50 (T
F211	AUTO FILL FLOAT SHOE, 5 1/2"		EA	1	\$320.00	\$320.00 (T
F251	TWO STAGE CEMENT COLLAR, 5 1/2"		EA	. 1	\$4,285.00	\$4,285.00 (T
E100	HEAVY VEHICLE MILEAGE - 1 WAY		MI	60	\$4.00	\$240.00
E101	CAR, PICKUP OR VAN MILEAGE - 1 WAY		Ml	20	\$2.50	\$50.00
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$	\$200 MIN	TM	479	\$1.60	\$766.40
E107	CEMENT SERVICE CHARGE		SK	510	\$1.50	\$765.00
R207	CASING CEMENT PUMPER, 3001-3500' 1ST 4 HRS	ON LOC	EA	. 1	\$1,596.00	\$1,596.00
R701	CEMENT HEAD RENTAL KANS	RECEINAS CORPORATIO		MISSION 1	\$250.00	\$250.00
S100	FUEL SURCHARGE			1	\$248.92	\$248.92
	· · ·	DEC 26	ZUU0			
	•	CONSERVATION		N	Sub Total:	\$24,533.46
		WICHITA	KC		 .	

PLEASE REMIT TO Acid Services, LLC, Dept No 1131, Tulsa, OK 74182

WICHITA, KS

Jet5tar

		<i>€</i> ~			Subjec	t to Correction		,	ORDE		12469
			Date 4-9-	06	Lease Barb	P		Well #	Lega	"8 <i>-3</i> 2	25-1/W
SER	VICES.	LLG	Customer ID		County Bare	hor		State	Stati		#
			<u> </u>		Depth Depth	Formation		1,17	Shoe	Joint 20	n/
c Trid	e Bnerg	y Cor	yany		Casing	Casing Depth	- 	TD .	Job Ty	29.	<u>74 </u>
A R					<u>512</u>	3348.8	37	TD 3850 Treate	51/2	<u> 25 tage</u>	L.S. N.W.
G E					Customer Repres	rickard Part	Ker-	Treate	Bobb	v Ora	Ke
	<u> </u>	··-								-	
AFE Number		PO No	ımber		Materials Received by	X Sin		1 m			UNTING
Product Code	QUANTITY	MATE	RIAL, EQUIPM	ENT and SEF	RVICES USED	UNIT PRICE	A	MOUNT	CORREC		UNTING AMOUNT
020/	3105K.	A-la	n Blend	/							
N205	175sk.	AA-	2		•						
1203	25.5K.	60/4	oloz		-	_					
											
C195	13215.	FLA	-322								
C221	90816	Salt	(fine)		_						
C243	4216,	Det	samer-								
C244	5016.		t FILHO	n Redu	cer :						
C321	875/bi	Gilso					,				
C312	12416	Gas									
C310	87616.	01	, ,	bride	+						
C194	79 /b.	2	lake		-	-					
<u> </u>											
C304	1500ac	Sugar	- Flust	T	-	_					
FIOI	13ea.		dizer,								
FI2 I	200.	Ruck	et, 5/2		_						
F121 F181 F211 F251	1a.	Welth	ertorlat	hDown	Phy & buffle	5%—					
FZU	104.	Auto	AU Floo	+ Shoc	- 151/2						
F251	Im.	Two	tuse Co	ment Co	-,512 Var,512						
	/										
E100	60m1.	Heav	y Vehic	le Mi	leag e						
E/01	20m1.		p Mile					_			
E704	4/79 tm.	Rulk	Delive	rv							
£707	510 sk.	Comi	est Se	VICE .	Charge						
R207	IPA.	Panen	+ Pund	3001	'-3500'						
R701	1000	Cene	of Head	Kent	a/						·
				4							
			Disco	runted	PACE	19913.32					
						J				ECEIVE	ED COMMISSION
10244 NE U	liway 61 P N	Roy 861	3 . Pratt KS	67124-861	13 . Phone (62)	1) 672-1201 . Fa	ax (62N)	672-5383	TOTAL UE	C 26 2	.000



TREATMENT REPORT

Customer	de Ene	2000	Pom	or all	Leas	se No.			•		*	Date				
Lease /	cher	'dY	<u> </u>	ury	Well	#	1-8	3				4	1-G-	06		
Field Order	# Statio	n Pra	#		J			Casing	51/2	Depth	88.87	County	Ba	rber		State /5.
Type Job 5	1/2 2 sta	se l	1.5.	Nu	J.				Fo	rmation				Legal D	escription	-11w
	E DATA	0	PERF	ORATI	NG D	ATA		FLUID	USEC)		1	rea ⁻		RESUME	
Casing Size	Tubing S	ize S	hots/Ft		Cm	1	7**	5sk. 1	1A2			RATE	PRE	SS	ISIP	
Depth 3368	Depth	F	rom		To	, ,	Pre	Pad / , 4/	4443		Max			· · · · · · · · · · · · · · · · · · ·	5 Min.	
Volume 78	Volume	Fi	rom		То		Pad		· · · · · · · · · · · · · · · · · · ·		Min		· .		10 Min.	•
Max Press	Max Pres	s F	rom		To Co	7.	5ra	sk.	A-lor	1	Avg				15 Min.	
Well Connecti	on Annulus	Vol. F	rom	1	То			1.96			HHP Used				Annulus	Pressure
Plug Depth	Packer D	epth F	rom		То		Flus			·	Gas Volun	ne			Total Loa	d
Customer Re	presentative	Bury	- Pa	Ker		Station	Mana	ger 🛵	we s	OH	-	Trea	ter B	26by	Orak	۴
Service Units	123	22	34	3473	01											
Driver Names	DRAKE	ANTE	WAY	BOLD								<u> </u>				
Time	Casing Pressure	Tub Press		Bbls.	Pumpe	d	F	Rate					Servi	ce Log		
8:30PM	h								· On	Loca	Hon	- Sav	fely	Me	chra	· · · · · · · · · · · · · · · · · · ·
10:00									Ru	nls	4-104:1	13 67	2/2	4. Cent	4 1,35;	79,11,13,15,17,15
-									21,	23,	25 - Bs	kt, 1	-29	<u>s - D</u>	01. VI	ol 28
2:30		ļ					_		139	m	Botton	1-/		,	<u> </u>	1
2:45		ļ				_			J.Ko	ek_	40 40	lsgi	-Br	cek [Ive . w	Pla
3130	150	ļ		3				15	Suy	oer.	Flush	ΙĽ				
3:37	150							15	Hz	U 5/	nacer			,		
3,38	150			4/4	6	_	5.	0	M	'X	mt. (a)	15.0	<u> </u>	ral ,	<u></u>	
314B				· · · · · · · · · · · · · · · · · · ·		_			Re	leas	<u>llug -l</u>	lear	- Pu	mp 46	ines	· · · · · · · · · · · · · · · · · · ·
	100	ļ					5,				Misp. n				<u></u>	
3/86	150			2			51.			^	isp. w/	•	<u>d</u>			
4:00	300			5		+	5,	<u>o</u>	LH	,	ressure					,
4:04	1500	ļ			2,5	_					DOWN	,				
4/102		<u> </u>		5					1 .		at Ho	p_		KANSA	RECE	EIVED
4/36	200					+			01	D P	Bomb	7 ·		a a service		ATION COMMISSION
4/30	800	-		······		+			14	en	DIVI	08/				6 2006
4:40	20.0		\dashv	-	5	+	5,	^	11	orc.	11 - 1		· · · · ·		ONSERVATION WICKIT	ON DIVISION A. KS
8:22	200		\dashv	<u>ر</u>	, _	_	<u>3,</u> 5,		172	<u>U /</u> S	nent 6	7 11	6#	1/00		
8123	150		\dashv		5		<u>, , , , , , , , , , , , , , , , , , , </u>	<u> </u>			rump t			49 2	200	2/1.
8:53	im				<u>,, , , , , , , , , , , , , , , , , , ,</u>	+	5	<i>'</i> .5			DISO.	LINC	1/	ISPIC	us p	ing
8:56	100							مرد	12/	11.1	יקציט					
1024	4 NE Hiv	vay 6	1 • P.	O. Bo	ox 86	13 •	Pra	tt, KS	6712	4-86 1	3 • (620) 672	-120	1 • Fax	x (620) (672-5383



TREATMENT REPORT

Customer	de En	crqu	· Com	h da a i	, L	ease No.		· <u>-</u>	 				Date			
Lease o	rber	77		yany	V	/ell #	8						4-9	7-06		
Field Order #	Statio	n /	ratt						ing 5		Depth		County	rber		State
Type Job 5	1/2 6.5		2340	g e		lew	<u>u</u>	ell	1	Forr	nation			Legal D	escription &	-308-11w
PIPE	DATA	Ì	PERF	ORA	TING	DATA		FLU	IID US	SED			TREA	ATMENT	RESUME	
Casing Size	Tubing Si	ze	Shots/F	t			Acid	d				1	RATE PR	ESS	ISIP	· · · · · ·
Depth	Depth		From		То	,	Pre	Pad				Max		· · · · · · · · · · · · · · · · · · ·	5 Min.	
Volume	Volume		From		То		Pac	3				Min			10 Min.	
Max Press	Max Pres	s	From		То		Fra	С				Avg			15 Min.	
Well Connection	n Annulus \	∕ol.	From		То							HHP Used			Annulus F	
Plug Depth	Packer D	epth	From	•	То		Flus	sh				Gas Volum	ie .		Total Load	j
Customer Ber	resentative	-	Park	er		Station	Mana	ager	Dav	<u>e</u> 5	cot	4	Treater	Pobby	Drake	
Service Units	123	2	26	207	501											
Driver Names	Drake	An	Hony	Bole	`						, .		<u></u>			
Time	Casing Pressure		ubing / essure		s. Pum	ped		Rate					Ser	vice Log		
9:01	250			Ĵ	37		5	0,0	/	Lif	4 P.	rssure	<u> </u>		<u></u>	
9107	1900			5	8				/	Phy		bur				
									_	0	Circ	ula Ho	on The	ra Ja	<u> </u>	
										DI	d n	ot Co	reulate	- lem	ent	· · · · · · · · · · · · · · · · · · ·
										0	65	Comp	hete			
												- 0				··.
							.			The	nK	s, Bos	bby			
								·			-			<u> </u>		- Miles de la companya del companya de la companya del companya de la companya de
		<u> </u>						•						<u> </u>		<u> </u>
	<u></u>															
							<u></u>									
		<u> </u>			-		·								· · · · · · · · · · · · · · · · · · ·	
											····			<u></u>	·	
						-	<u>,</u>								RECEI	VED
									_					KANSAS		ON COMMISSION
															DEC 26	2006
									•					co	NSERVATIO	N DIVISION
					<u> </u>					-					WIC:TIA	. KS
10244	NE Hiw	ay (61 • P	.O. E	ox	8613 •	Pra	att, K	S 67	124	-861	3 • (620) 672-12	01 • Fa	x (620) 6	72-5383



BALES OFFICE:

100 S. Main Seite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX SALES & BERVICE OFFICE:

10244 NE Hiway 61 PO. Box 8613 Pentt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

SALES & SERVICE OFFICE:

1700 S. Country Estates Rd. PO. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

Invoice

Bill t	7149500	Invoice		oice Date	Order	Station	
	Pride Energy Co.	603185		3/29/06	12330	Pratt	
	P.O. Box 701950			Service De	scription		
	Tulsa, OK 74170			Cem	ent		
	Tuisa, OK 74170		Lease		Well		
			Barba	(a)	1-8) New V	
			AFE		PO	Tern	
						Net 3	30
	CustomerRep			Trea			
	R. Parker			M. Mc	Guire	***************************************	
<u>ID.</u>	<u>Description</u>		<u>UOM</u>	Quantity	Unit Price	<u>Price</u>	2
D203	60/40 POZ (COMMON)		SK	250	\$9.82	\$2,455.00	(T)
C310 -	CALCIUM CHLORIDE		LBS	645	\$1.00	\$645.00	(T)
C194	CELLFLAKE		LB	61	\$3.41	\$208.01	(T)
F163	WOODEN CEMENT PLUG, 8 5/8"		EA	1	\$88.90	\$88.90	(T)
F100	HEAVY VEHICLE MILEACE I WAY		MI	40	\$4,00	\$160.00	
E101	CAR, PICKUP OR VAN MILEAGE - 1 WAY		MI	20	\$2.50	\$50.00	
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$2	200 MIN	TM	215	\$1.60	\$344.00	
E107	CEMENT SERVICE CHARGE		SK	250	\$1.50	\$375.00	
R201	CASING CEMENT PUMPER, 301-500' 1ST 4 HRS ON	LOC.	EA	1	\$704.00	\$704.00	
R701	CEMENT HEAD RENTAL		EA	1	\$250.00	\$250.00	
S100	FUEL SURCHARGE			1	\$54.12	\$54.12	

Sub Total:

\$5,334.03

Discount:

\$950.38

Discount Sub Total:

\$4,383.65

Barber County & State Tax Rate: 6,30%

Taxes:

\$175.88

(T) Taxable Item

Total:

\$4,559.53

Prompt payment discount of \$91.19 if payment received by 4/8/06

RECEIVED

KANSAS CORPORATION COMMISSION

DEC 26 2006

CONSERVATION DIVISION

WICHITA KS PLEASE REMIT TO Acid Services, LLC, Dept No 1131, Tulsa, OK 74182 JetStar

	· Ž		## N##	101241				FIEL	O OF	RDER	12330
$/\!\!\!/$			Date 3.1	7.0/	Lease 200	t to Correction	<u>, i,</u>	Well #	Ş		305-11W
	Y LE C.S.		Customer I	706 D	County DA	PRSI		State	5	Station	1-7
		ICACII			Depth	Formation	1	1 9		Shoe Joint	
CH PK	WE EN	EKGY	<i>.</i>		Casing 5/1	Casing Depth	66	™33 4	/	Job Type	E N.W
Ř					Customer Repres	antative 200	Vel	Treate	"M	MGU	
E					11917	W TEN			<u>) </u>	<i>71. 40</i>	<i></i>
AFE Numbe	,	PO Nur	nber		Materials Received by	X K	1	Da) 19/		
Product Code	QUANTITY	MATER	RIAL, EQUIP	MENT and SE	RVICES USED	UNIT PRICE		AMOUNT	CC	ACC PRRECTION	OUNTING AMOUNT
D203	े ठ्ठार			32	-						
<u> </u>	6451b	CALC	um c	HARI	0 <i>E</i> -						
194	6116	CELL	FLA	HS	•	-					
			-								
F163	/_	400	OSNC	EMENT	PLUL	85/8.					
£100	40mi	HEA	VV V	EHICLE	MILA	ر در					
5101	DOMI	PICK	10/2/	MLAU							
104	2157M	PROP	PANT	4 BU	KDELIVE	RY					
E107	25031	CEM	SYS	ENU	ECHAR	\r\{\r\\\			<u> </u>		_
ROOL	/	CASI	NE	EMUS	Pempel	301-50	2'		<u> </u>		
RIOI	/	CEM	WT	HEAD	RWTAL		ļ		!		
								· · · · · · · · · · · · · · · · · · ·			
	<u> </u>	1715	10 M	1750	PRUS	7	40	2295	M		
			+ 7	4X5	PRICE						
							ļ				
			4/1	1/1/	′		ļ				
		1/1	M	14 40	U_{-}		ļ	<u></u>			
			A.	/			<u> </u>				
		-/	44/5	2			<u></u>			·	
								,		,	
									K	F&E ANSAS CORPO	CEIVED PRATION COMMISSION
						<u> </u>				- DEC	2 6 2006
			D-4-4	0.07404-00	12 Dhana (60)) C70 4004 - F	ov (600	\ 672 F202	*	CONSERV	ATION DIVISION
10244 NE I	liway 61 · P.O.	Box 8613	· Pratt, K	5 0/124-86	13 · Phone (620	J) 0/2-1201 · F	ax (021	0/2-0505	TOTAL		CHITA, KS



TREATMENT REPORT

PRIOS	ENSCO	4 4).	Leas	e No.	نقضا صباستار مرسور مي روسي			Date	2 20				
	BAKA			Well		-8			ت ا	3-29	06			
M 3.3.7	Station	PRA	7			Casing	5/8 Depth	1	County	KBX	• . ·	State		
pe Job Su	RFACE	2	25/8	Λ	1Ew	WELL	Formation			Legal De	3 ¹⁹ 2	5-11W		
PIPE	DATA	PEF	RFORAT	ING DA	TA	FLUID	USED		TREATMENT RESUME					
SP ()	Tubing Si	ze Shots	/Ft		-41	250	sx5 60,	40/8	BATE PRI	ESS	ISIP	•		
PUS / 62	Depth	From		То	Pı	2008	ENOUT	MAX E			5 Min.			
lumy 5	Volume	From		To	Pa	3%	ALICA	Mintes	101		10 Min.	*******		
3808	Max Pres	s From		То	Fr	ac 25 #	SC CELL				15 Min.			
Connection	Annulus \	/ol. From		То				HHP Used			Annulus P			
B) Perent L	Packer De	epth From		То	FI	ush //)	Gas Volur			Total Load			
stomer Repr	esentative	ARKI	2	s	tation Ma	nager DA	VE Sco	7	Treater	71 1	1641	l <u>l</u>		
rvice Units	118	226	38/	2										
ver mes	MUR	TABOR	EVA	m/					<u> </u>					
Time	Casing Pressure	Tubing Pressure	Bbls	. Pumped		Rate	ļ		Sen	vice Log		`		
745							CALL	1 a	17					
840		,					0	V La	CATIO	v _				
							R16 7	ORU	WZ.	JUK	5 89	8CKIR		
							au	B011	ion_					
235					<u> </u>		CIRC	ULA	75 W/	RIG				
							HOOK	S	70 /c	My Z	KLEX			
0/3	<u>50</u>			<u> </u>		7_	HZC	AH	SAP	10/10		- 0 :: 12 #		
240			<u>ک</u>	6	4	7	MIX	25	<u>2565 a</u>	60/48	Pol	6147		
058							SHU	1 IL	an/	KEL	ERCI	ZUL		
100			ļ			4_	11/5/	LHE	<u>nev 1</u>		5/			
			"				CEM.	EVT.	70 F	17	روجي	<u>K</u> 5		
105			1/2	75			9206	5270	02	¥` <i>び川</i>				
			 				ļ	T 1	<u> </u>	. 0				
						··	ļ	60	LOM	PLLT	<u>د</u>	 		
			 	·			-		10.1	1.4	/			
ļ			-				<u> </u>	71	MAK	900		· · · · · · · · · · · · · · · · · · ·		
					<u> </u>				MIK	L,	R	ECEIVED		
	· · · · · · · · · · · · · · · · · · ·				1						ANGAG AAA	DOBATION OFF		
		-									ANSAS COR	PORATION COMMI		